O 00 N O O B W N -

W W W W W W NN NN NN NN DNDNDDN P PP 2R PR =
o B WO N P O O 0 N O o B WO N kP O O 00 N oo o & W N - O

N Y FZIVFR ROFERBER
B 2023/6/29(A)

R jizE 2 ER= K% g F i ERE

7F 50m BHE ARl HBE |t 7 LFE| 65 1:00.60
ZF 50m B hE EFTE | FIAFER| TR 0:45.20
ZF 50m =f=z}iZ T Xt |t bFFILFR| TR 0:48.47
ZF 50m B BRIE 2 [t rIAFRE TR 0:44.11
ZF 50m B IR BB | R LFR| 8 0:35.45
ZF 50m BH EH FEF [ b5 0FE 8% 0:37.90
ZF 50m B B 0xE (€Y bIAFEl 9% 0:35.67
ZF 50m =Ef=z}iZ Bl s | er FZILEER| 10 0:34.56
ZF 50m BH AN B [ b ALFE| 115 0:35.43
ZF 50m B B BN |[t¥bILFE 108 0:36.21
zF 50m BHE AH BR |t hIAFE| 105 0:32.55
ZF 50m ExE fRIe = |evbroEEl TE 0:53.61
ZF 50m ExE AN HE (€Y bSLFE| 65% 1:11.11
ZF 50m ExE R TET [€ b5 L0FEl 8% 0:45.28
ZF 50m ExE AN Ak [~ b uFE| 11K 0:44.04
ZF 50m BxE BA B |tr bk Z7LFR| 105 0:46.51
ZF 50m ExE mlll e |er b ZAFER| 108K 0:41.24
ZF 50m BxE B 0E [vr b7 0FR| IR 0:40.16
ZF 50m BxE BHF BRE |trbILrFRE| 10 0:36.44
ZF 50m ExE Mg 0E [tr bIAFER| 12/ 0:37.02
nF 50m FoRE mE EFTE | b AFE] TR 1:03.30
nF 50m FoRE Tl X (v bR TR 1:07.93
nF 50m FoRE BA BN |trhkIALFER| 105 0:45.64
nF 50m FoRE INR S HEAR [ R T ILEE| SR 0:51.66
nF 50m FoRE BOLE Y FZLAFR|] 9 0:45.77
nF 50m FoRE )l Bt |t b ZAFE| 105K 0:46.83
ZF 50m Tk E aHF BRE |trbILFRE| 10 0:43.15
ZF 50m FKE e 0E (v rIEE| 128 0:38.58
ZF 50m NE774 | F8 KA | b ILFEER| TR 0:53.83
T 50m NZT7F4 BRIE &2 |trbhIARE|l TR 0:48.55
ZF 50m NE774 | B FTEF | b7LFR| 8% 0:41.32
ZF 50m NET 54 INBR R | F T LEER| 8 0:42.68
ZF 50m NET 54 Mg 0E (Y bIAFE| 125 0:34.18
ZF 100m BB EAN BIR [€~ b LFE| 11K 1:21.25
BF 50m BB At FREE [€> b SALFE| 6% 1:07.44




36
48
38
39
40
41
42
43
44
45
46
47
37
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69

N Y FZIVFR ROFERBER
B fi: 2023/6/29(K)

PR PR g S| K4 g F D FLER

= 50m BHE e BO [tr b ILFRER| 6% 1:07.22
B 50m BExE HE BB |t FJ7LFEER| 6% 1:13.00
L 50m BHE RHF ZFKREE [ b LFE| 6% 0:45.94
5 50m BHE BwAR H} | bIAFRER| 8K 0:41.60
2 50m BHEF I B | FZLRER| 9 0:43.10
= 50m BHE BiE Bf |ty bhILFRE| 8 0:46.74
5 50m BHE RE O |t hILFRER| 8RR 0:39.51
5 50m BHE A+E A | bIAFRE| 9K 0:38.46
= 50m BHE AN FHIAER [ o vEE| 105 0:33.33
5 50m BHE INEOFRE Y b IAFRE| 10K 0:33.06
= 50m BHE Sl BEx |trrFLFER| 105k 0:33.06
L 50m BHKE e B0 [tr b IAFRER| 6% 1:11.59
L 50m BHE B 2% [ b7 AFE| 6% 0:50.08
5 50m HixE At+E B |y bIAFER|] 9% 0:46.94
5 50m HixE NEEE |y bSLER| 105 0:39.25
5 50m HixE AN FIRER |t b ZLFEER| 105 0:40.44
L 50m BHKE INE BB Y b IARER| 12K 0:35.65
L 50m BHKE F BA [t IAFRE| 12K 0:39.24
5 50m FEoxE RIF ZKREB |Lv b 7LFE| 6% 1:06.73
5 50m FoRE W ER | P ZUEE| 9 0:59.50
5 50m FoRE i) H | b TILFER|] 8 0:54.68
DE 50m Pk E B B |t 7P| S8& 0:55.55
=2 50m Tk E = oM |[er iRz 8 0:52.17
DE 50m Pk E AN FIRER [t~ LFE| 105 0:46.98
DE 50m Pk E =i B v I ULFEER| 105 0:46.83
DE 50m Pk E F BA |[trrIAFRE| 12K 0:44.61
DE 50m Pk E R FEE Y b FALFER| 12K 0:40.15
DE 50m Tk E Nk RE |wr I AFER| 10K 0:44.30
DE 50m NETZ7A AR 2 [eY b IAFR| 65 1:10.36
57 50m NETZA A+E A | bIAFRE| 9K 0:46.02
57 50m NETZA EE @ |wr I LER| 8 0:47.22
5F 50m NRT7 A4 F EBEA |t bIARER| 12K 0:36.85
57 50m NETZA NEOEE |y b IARER| 12K 0:33.79
57 50m NRT774 = =] v b7 LFER| 105 0:36.18




